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QUESTION 1

An NGXR65 HA cluster contains two members with external interfaces 172.28.108.1 and 172.28.108.2. The internal
interfaces are 10.4.8.1 and 10.4.8.2. The external cluster VIP address is 172.28.108.3 and the internal cluster VIP
address is 10.4.8.3. The synchronization interfaces are 192.168.1.1 and 192.168.1.2. The Security Administrator
discovers State Synchronization is not working properly. The cphaprob if command output displays shows:What is
causing the State Synchronization problem?

Required intewrfaces: 3

Required secured interfaces:

ethBolUP <sync, secured? multicast

ethl UP non sync <non secured? multicast
eth2 UP non sync <non secured?,. multicast

Virtual cluster interfaces: 3
ethd 192 _168.1.3

ethi 172.28_.1688.3

eth2 18.4.8.3

A. The synchronization network has been defined as "Network Objective: Cluster + 1st sync" with an IP address
192.168.1.3 defined in the NGX cluster object\\'s topology. This configuration is supported in NGX and therefore the
above screenshot is not relevant to the sync problem.

B. The synchronization interface on the individual NGX cluster member object\\'s Topology tab is enabled with "Cluster
Interface". Disable this setting.

C. The synchronization network has a cluster VIP address (192.168.1.3) defined in the NGX cluster object\\'s topology.
Remove the 192.168.1.3 VIP interface from the cluster topology.

D. Another cluster is using 192.168.1.3 as one of the unprotected interfaces.

Correct Answer: A

QUESTION 2

When configuring site-to-site VPN High Availability (HA) with MEP, which of the following is correct?

A. MEP Gateways cannot be geographically separated machines.

B. MEP Gateways must be managed by the same SmartCenter Server.

C. The decision on which MEP Gateway to use is made on the MEP Gateway\\'s side of the tunnel.

D. If one MEP Security Gateway fails, the connection is lost and the backup Gateway picks up the next connection.

Correct Answer: D

QUESTION 3
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Which of the following statements about file-type recognition in Content Inspection is TRUE?

A. A scan failure will only occur if the antivirus engine fails to initialize.

B. Antivirus status is monitored using SmartView Tracker.

C. The antivirus engine acts as a proxy, caching the scanned file before delivering it to the client.

D. All file types are considered "at risk", and are not subject to the whims of the Administrator or the Security Policy

Correct Answer: C

QUESTION 4

Which operating system is not supported by SecureClient?
A. MacOSX

B. Windows XP SP2

C. Windows 2003 Professional

D. IPSO 3.9

Correct Answer: D

QUESTION 5

Which of the following would NOT be a reason for beginning with a fresh installation of VPN-1 NGX R65, instead of
upgrading a previous version to VPN-1 NGX R65?

A. You see a more logical way to organize your rules and objects.

B. YOU want to keep your Check Point configuration.

C. Your Security Policy includes rules and objects whose purpose you do not know.
D. Objects and rules\\' naming conventions have changed overtime.

Correct Answer: B
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